
Q & A on Light 

 

BENGALI VERSION 

 

১)  একিট অবতল দপর্ণ েকােনা ব�র �িতিব� গঠন করল। এই অব�ায় ব� ও দপর্ণ উভয়েকই জেল েডাবােনা 

হেল �িতিবে�র অব�ােনর েকােনা পিরবতর্ন হেব িক ? 

উ�রঃ  অবতল দপর্ণেক জেল েডাবােনা হেলও �িতিবে�র অব�ান অপিরবিতর্ত থাকেব। 

কারণ - মাধয্েমর পিরবতর্ন ঘটেলও �িতফলেনর সূ�গুিল এবং দপর্েণর েফাকাস ৈদঘর্য্ একই থােক।  

 

২)  েদখাও েয, আপিতত আেলা এবং �িতসৃত আেলার তর� ৈদেঘর্য্র অনুপাত হল মাধয্েমর �িতসরা� । 

উ�রঃ  মাধয্েমর পিরবতর্ন ঘটেল আেলাকরি�র েবগ ও তর�ৈদেঘর্য্র পিরবতর্ন হয়, িক� ক�াে�র পিরবতর্ন হয় না।  

 ধির, �থম মাধয্ম সােপেক্ষ ি�তীয় মাধয্েমর �িতসরা� µ ।  

 ∴  µ =  �থম মাধয্েম আেলার েবগ (𝑉𝑉1)
ি�তীয় মাধয্েম আেলার েবগ (𝑉𝑉2)

 = 𝑛𝑛 𝜆𝜆1
𝑛𝑛 𝜆𝜆2

 = 𝜆𝜆1
𝜆𝜆2

   [n = ক�া�] 

  =  
আপিতত আেলার তর�ৈদঘর্য্

�িতসৃত আেলার তর�ৈদঘর্য্
 

 

৩)  আয়তাকার কােচর �য্ােব েকােনা আেলাকরি� আপিতত হেল আপিতত রি� ও িনগর্ম রি�র মেধয্  চুয্িতেকাণ 

কত ? 

উ�রঃ  আপিতত রি� ও িনগর্ম রি�র মেধয্  চুয্িতেকােণর মান 0°।  

 কারণ - আপিতত রি� ও িনগর্ম রি� পর�েরর সমা�রাল । 

 

৪)  একিট উ�ল েল� েথেক 20 cm দূের একিট ব� রাখার ফেল উৎপ� �িতিব� েলে�র েকােনা িদেকই পাওয়া 

েগল না। ওই েলে�র েফাকাস দূর� কত ? 

উ�রঃ  ওই উ�ল েলে�র েফাকাস দূর� 20 cm ।   

 কারণ – ব� উ�ল েলে�র েফাকােস অবি�ত হেল �িতিব� অসীেম গিঠত হয় । এবং �িতিব� েলে�র েকােনা 

িদেকই পাওয়া যায় না ।  

 

 

 



ENGLISH VERSION 

 

1)  A concave mirror produces image of an object. If now both the mirror and the object 
are immersed in water, will the position of the image change? 

Ans:  If both the mirror and the object are immersed in water, the position of the image will 
not change. 

Reason - Laws of reflection and focal length of the mirror remain unchanged with the 
change of medium. 

 

2)  Show that the ratio of the wavelengths of incident and refracted light in a medium is 
equal to the refractive index. 

Ans:  When there is a change in medium, velocity and wavelength of light changed, but 
frequency remains unchanged. 

 Let the refractive index of second medium with respect to first medium be µ. 

 Then,  µ = 
velocity of light in first medium (𝑉𝑉1)

velocity of light in second medium (𝑉𝑉2)
 = 𝑛𝑛 𝜆𝜆1

𝑛𝑛 𝜆𝜆2
 = 𝜆𝜆1

𝜆𝜆2
   [n = frequency] 

 = 
wavelength of incident light
wavelength of refracted light

  

 

3)  A ray of light is incident on a rectangular glass slab what is the angle of deviation 
between the incident ray and emergent ray? 

Ans:  The angle of deviation between the incident ray and emergent ray is 0°. 

 Reason – The incident ray and emergent ray are parallel to each other. 

 

4)  When an object is placed 20 cm away from a convex lens, image is not observed on 
either sides of the lens. What is the focal length of the lens? 

Ans:  The focal length of the convex lens is 20 cm. 

Reason – When an object is situated at the focus of a convex lens, the image is formed 
at infinity. And the image is not observed on either sides of the lens. 
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